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Instructions : (1) All question are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw near diagram wherever necessary.
(4) Use of uny type of calculator is not allowed.

(3) Conmments are must in assembly language program.

1.  (A) Select the correct alternative and rewrite the following :
(a) 8085 Microprocessor consist of  general purpose registers. 1
(1 4
(1) 6
iif) 8
(v) 16
(b) is not an example of logical operation of 8085 Microprocessor. 1
(1) Rotate

(i) Complement
(iii) Increment
(iv) Compare
(c) 8051 isa  bit microcontroller. i 1
(ii) 8
(iii) 32
(iv) 16
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Answer any two of the following :

(a) Explain following registers of 8085 Microprocessor ¢
(iy Instruction Decoder ‘
(i) Temporary Register

(iii) Stack Pointer

(b) " What do you mean by Interrupt 2 Explain




*)

Answer any two of the following :

(a)

(b).

3
Explain ﬁ)ilowmg msn:ucttens of 8085 Microprocessor. = o

s

Explain following addressing modes of 8085 .Ml_':;.mpmge;'

(1) Immediate Addressing

(ii) Register Indireet Addressing

(i) Direct Addressing

Th‘e‘ Acc'umulatﬁr contains the data |




Answer any two of the following :

(a)
(b)

(c)

A block of data is stored in memory location from C101 H to C10AH. Write

: -ansfer the k in reverse order
an Assembly Language Program [0 transfer the bloc

to memory location C200H and onward.

‘Write an Assembly Language Program to find the product of two numbers

stored in memory location CO0SH and COUGH. Store the result in COOOH
and COOTHL.

Write an Assembly Language Program to add two BCD number stored
at location 2500H and 2501H. Place the BCD result in location 2502H
and onward starting with LSB.

OR

Answer any two of the following :

(a)

(b)

(c)

Write a subroutine to fill the memory location 2501H to 25FF H with Hex
number O1H to FFH.

A Hex number is stored at location 2100H, Write an Assembly Langu:_age
Program to interchange its digit, the new number is to be stored in 2105H.
Add original number with new number and store the result at location
2105H.

‘Write an ALP to count the number of odd data byte occurring in a block.
starting from memory location 2501H to 25FFH. Store the result at the
memory location 2600H.
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